Name: Class:
Division match-ups

Match the answer with the question.

1. la. 40+4 = . «G =10
b. 45+3 = J oJ =
c. 48+16 = J eA=5
d. 126+ 18 = . eE=8
e. 60+5 = . eC=15
f. 22+11 = U oF =18
g 90+5 = o eH=3
h. 75+15 = . oD =12
i. 144 +18 = . eB=3
j. 33+11 = . ol =7

2. |a. 306+18 = . eB=38
b. 88+11 = . oF =12
c. 252+14 = J e A =17
d. 289 +17 = J oE =11
e. 144+9 = . eG =16
f. 64+4 = . ol =17
g. 208+ 16 = . eD =13
h. 99+9 = . eC =18
i. 72+6 = . eH =16
j.o M2+7 = J eJ =16
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Name:

Class:

Division match-ups

Match the answer with the question.

1.

a. 40+4 = Ge <G =10
b. 45+3 = C J=2
c. 48+16 = B A=5
d. 126 +18 = | E=8
f. 22+11 = J S F=18
g. 90+5 = i \ nee
h. 75+15 = A D=12
i. 144 +18 = E B=3
j. 33+11 = H | =7

2. |la. 306+ 18 = | B =
b. 88+11 = B F=12
c. 252 +14 = C A =17
d. 289 +17 = A E =11
e. 144 +9 = H G =16
f. 64+4 = G | =17
g. 208+ 16 = De oD =13
i. 72+6 = F H=16
o 112+7 = Je oJ =16
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